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QID : 1 - In the following question, select the related word pair from the given alternatives.

Options:
1) Sun : Heat
i

2) Earth : Planet

gedt : 78

3) Land : Solid
(3

4) Water : Drink
et : AT

Correct Answer: Earth : Planet
guft: g

Candidate Answer: Sun : Heat

QID : 2 - In the following question, select the related word pair from the given alternatives.

frafafea ue & Ry 1y foredt § § T&fia eree gm &t ghgl

Ff:aR::?:?

Options:

1) Rectangle : Five

3T - O

2) Hexagon : Seven

VT : I

3) Rhombus : Six

IS : B8

4) Triangle : Three

Beger : =

Correct Answer: Triangle : Three
[EXi

Candidate Answer: Triangle : Three
et =

QID : 3 - In the following question, select the related word from the given alternatives.

Forest : Trees : : Book : ?
feafafEa vy § Ry 7y et F @ wefda e &t gHgl

I g8 &Ik . ?
Options:

1) Pages

LS

2) Bind

e

3) Writer
Siec

4) Pen
heTH

Correct Answer: Pages

=


http://thepracticetest.in/cs_sscje_18/logout.php?appid=1368062d74107fc05177712c90c3885c
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Candidate Answer: Pages

I8

QID : 4 - In the following question, select the related letters from the given alternatives.
TRAP : YWFU : : FROG : ?

et vy A Ry g faehedt & © Tefda sreri &t gfagl

TRAP : YWFU : : FROG : ?

Options:
1) KHLG

2) KWTL

3) WKLH

4) FGHL

Correct Answer: KWTL

Candidate Answer: KWTL

QID : 5 - In the following question, select the related letters from the given alternatives.
FAN:MZU::LIP:?

feafafea uy § Ry g faeredt & € defda sreri st gihgl

FAN:MZU::LIP:?

Options:

1) FGA

2) KRO

3) ANP

4) TSQ

Correct Answer: KRO

Candidate Answer: KRO

QID : 6 - In the following question, select the related letters from the given alternatives.
AM:FR::LQ:?

fafafea uy § Ry g faredt & € Tefda sreri st gfhgl
AM:FR::LQ:?

Options:
1) HQ

2) NP

3)QV

4) LS

Correct Answer: QV

Candidate Answer: QV

QID : 7 - In the following question, select the related number from the given alternatives.
46:24::54:?

Frafafea osr A Ry 7 feeredt A @ w&faa dwen @t gfg)

46:24::54:?

Options:
1) 30

2) 24
3)20

4) 36
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]



QID : 8 - In the following question, select the related number from the given alternatives.
11:24::23:7?

fafafea vy 8 Ry 7y faeedt & @ Hefda g st gl

11:24::23:?

Options:

1) 42

2) 36

3)54

4) 58
Correct Answer: 36
Candidate Answer: 36

QID : 9 - In the following question, select the related number from the given alternatives.
5:15::7:7?

FafafEa us A Ry 71g foeredt 7 & w&fea dwear & gl

5:15::7:?

Options:
1) 28

2) 21
3)37

4) 25
Correct Answer: 21
Candidate Answer: 21

QID : 10 - In the following question, select the odd word pair from the given alternatives.

frafaf@a v & Ry 1y faedt & § v g gm &) gfg)
Options:

1) Pen — Write

oA — foramT

2) Ball - Play

g — @

3) Food - Eat

e — @

4) Pencil - Stationery
U - wia A

Correct Answer: Pencil - Stationery

e - e arf

Candidate Answer: Pencil - Stationery

e - o arf

QID : 11 - In the following question, select the odd word from the given alternatives.

FrafafEa vy 8 Ry 7y et & @ v et gg)
Options:

1) Road

Hqeh

2) Truck

&b

3) Car

R

4) Scooter

|

Correct Answer: Road
Heh

Candidate Answer: Road
HEh

QID : 12 - In the following question, select the odd word from the given alternatives.

frafafed wer 7 Ry g feredt # & v 2oz &6t gfAg)



Options:
1) Rice
EIECH
ZLWheat

3) Maize
HerhT

4) Crop
hdT

Correct Answer: Crop
T

Candidate Answer: Crop
T

QID : 13 - In the following question, select the odd letters from the given alternatives.

freafafea vy § Ry g faeredt & € faww sreri ot gig)

Options:
1) GUIM

2) HKN
3) MPS

4) NQU
Correct Answer: NQU
Candidate Answer: NQU

QID : 14 - In the following question, select the odd letters from the given alternatives.

frafafed mer & Ry g feredt & & R s1ert &t gfg)

Options:
1) LQVA

2) AFKQ
3) CHMR

4) MRWB
Correct Answer: AFKQ
Candidate Answer: AFKQ

QID : 15 - In the following question, select the odd letters from the given alternatives.
et v H Ry g faeredt & @ fvm srert o0t gfgl

Options:

1) VRNJ

2) CYUQ

3) KGCX

4) SOKG
Correct Answer: KGCX
Candidate Answer: KGCX

QID : 16 - In the following question, select the odd number from the given alternatives.

Frafafea v 8§ Ry 7g foeredt & @ fos e &t gihm)
Options:

Correct Answer: 5 — 28
Candidate Answer: 5 - 28

QID : 17 - In the following question, select the odd number from the given alternatives.

frfafea uer & Ry g et & & fawm @@ ot gfhg
Options:

1)11-13

2)13-17

3)17-19

4)11-15

Correct Answer: 11 - 15



Candidate Answer: 11 - 15

QID : 18 - In the following question, select the odd number pair from the given alternatives.

fafafea vy 8 Ry g faedt & @ fvm g g ot gfg)
Options:
1)4-12

2)5-15
3)6-18

4)9-29
Correct Answer: 9 — 29
Candidate Answer: 9 - 29

QID : 19 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Series
2. Singing
3. Secure
4. Sickle
5. Secured

frfafad el &t 2reaentsr & o1 aTel s & SIER ford|

1. Series
2. Singing
3. Secure
4. Sickle
5. Secured
Options:
1) 35142
2) 53142
3) 35124
4) 53124

Correct Answer: 35142
Candidate Answer: 35142

QID : 20 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Drive
2. Drown
3. Drain
4. Drink
5. Drama

fffad el &t 2reaentsr & 117 arel o & SIgER ford|

1. Drive

2. Drown
3. Drain

4. Drink

5. Drama
Options:
1) 35421
2) 35412
3) 35214
4) 35241

Correct Answer: 35412
Candidate Answer: 35412

QID : 21 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Price
2. Prize
3. Police
4. Paint
5. Prawn

Ffafad el @t reaentsr A 11 arel 3 & IgER ford|

1. Price
2. Prize
3. Police
4. Paint
5. Prawn



Options:
1) 45123

2) 45213

3) 43521

4) 43512

Correct Answer: 43512

Candidate Answer: 43512

QID : 22 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AG, FM, KS, PY, ?

Qe 31ehA o T 8, e @ gk ue g 1 Ry 1Y Renedt A @ a8 T8t fened gy, St sigeRd &l @A

AG, FM, KS, PY, ?

Options:
1) RM

2) UE

3)JQ

4) YA

Correct Answer: UE

Candidate Answer: UE

QID : 23 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
ALK, VGF, QBA, ?, GRQ

Teh 3rehd e e &, o @ uah v g 1 Ry g Rieredil & @ g Tl faehed 9T, St orgehd ol [ |

ALK, VGF, QBA, ?, GRQ

Options:
1) KST

2) ARP
3) CXD

4) LWv
Correct Answer: LWV
Candidate Answer: LWV

QID : 24 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
KPD, QVJ, WBP, CHV, ?
Teh STeRH fom T B, O § e U g 81 g g fenedt § § a8 I8t faehed g, St srshn ol gy Rl

KPD, QVJ, WBP, CHV, ?
Options:

1) INB

2) GXF

3)ICM

4)ZDQ
Correct Answer: INB
Candidate Answer: INB

QID : 25 - In the following question, select the missing number from the given alternatives.
3,7,11, 63,27, 215,2,?
fafafea vy § Ry 7 el & @ g ofe 1 Hifsgl

3,7,11,63,27,215,2,?
Options:

1) 47,513

2) 51,511

3) 51,513

4) 47,511

Correct Answer: 51, 511



Candidate Answer: [ NOT ANSWERED ]

QID : 26 - In the following question, select the missing number from the given alternatives.
18, 45,112.5,?,703.125
FrafafEa v 8§ Ry 7 et & @ g ofe 31a Siforg|

18, 45,112.5,?,703.125
Options:

1)217.5

2) 262.25

3)281.25

4) 273.75

Correct Answer: 281.25
Candidate Answer: 281.25

QID : 27 - In the following question, select the missing number from the given alternatives.
30, 68, 130, 222, 350, ?
frafafea vy 8§ Ry 7 et & @ g ofe F1a Siforg

30, 68, 130, 222, 350, ?
Options:

Correct Answer: 520
Candidate Answer: [ NOT ANSWERED ]

QID : 28 - Seg CD is shorter than Seg MN, Seg MN is shorter than Seg TR, Seg AB is shorter than Seg CD and Seg MN is shorter than Seg PQ. Which segment is the
shortest?

T CD @s MN T BieT §, @s MN @S TR 9 B1eT 8, @S AB WS CD ¥ Blel § 3R @ MN Ts PQ T BicT &1 Ja9 BicT TS i a1 8?

Options:
1) CD

2) MN
3) PQ

4) AB
Correct Answer: AB
Candidate Answer: AB

QID : 29 - A is B's father's father's daughter-in-law's daughter. If B's father has no brother then how is A related to B?

A, B & T & e & sig Y it 81 3R B & i b i orrd 8T 8, ot A, B @ fohg g deifda &2
Options:

1) grand-daughter

it

2) daughter

FE

3) mother
|

4) sister
e

Correct Answer: sister
EE]

Candidate Answer: [ NOT ANSWERED ]

QID : 30 - From the given alternative words select the word which cannot be formed using the letters of the given word.
RECUPERATE

FfafE fomedl J & g ree gy St Y 7Y 2rea & SR et TINT hedh Tel ST ST SehdT:

RECUPERATE



Options:
1) acute

2) trace
3) price

4) erupt
Correct Answer: price
Candidate Answer: price

QID : 31 - If TUESDAY is coded as VWGUFCA, then how will COW be coded as?

afe TUESDAY &t st & VWGUFCA foraT STt & df COW ot vt & o fordt?
Options:

1) EQY

2) XLD

3) BNV

4) DPX
Correct Answer: EQY
Candidate Answer: EQY

QID : 32 - In a certain code language, 2369 means 'master class is fun', 9527 means ‘act is class apart' and 1349 means 'we have fun class'. Find the code for 'fun’.

et fRf9a opts wmr & 2369 a1 31ef & 'master class is fun', 9527 @ 371 & 'act is class apart' 3R 1349 &1 319 § 'we have fun class'l 'fun' & fog sts 3@ 21
Options:

1)2

2)6

3)3

4)9
Correct Answer: 3
Candidate Answer: 3

QID : 33 - In a certain code language, '+ represents -, - represents 'x', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.
16-25x40+60+15="?
foreh Afa e T & '+, - Al UefRfa ST §, ™', 'X ot UafRTd shear 8, X', '+ ot UafRid shear 8 ofiR '+, '+ ot Uil eear g1 FRferfd wst et IR I1d he?

16-25x40+60+15="?
Options:

1) 14

2)72

3) 55

4) 63

Correct Answer: 55
Candidate Answer: 55

QID:34-1f72$ 20 =46 and 1 $ 27 = 14 then find the value of 10 $ 44 =?

afd 72 $20=46 3R 1$27 =141 10 $ 44 = ? I A A H?
Options:

1) 34

2) 54

3) 27

4)17

Correct Answer: 27

Candidate Answer: 27

QID : 35-If A $ B means A is son of B, A # B means A is brother of B and If A * B means A is father of B, then what does P # Q $ R * S mean?

TREASBAIIEFABH L A#BIASEFABFR IS ERARA*BAI NS fF A BRI UaT g P #Q $ R* S ot aram a1 87

Options:

1) P is father of S

PSS fuargd

2) P is father's father of S
PS& e g

3) Pis brother of S
PSaHWEE

4) Pissonof S
PS&HITIE



Correct Answer: P is brother of S
PSwIuEe

Candidate Answer: [ NOT ANSWERED ]
QID: 36 -

Select the missing number from the given responses

e o et 7 4 oy e gy

Options:
1)2

2) 11
3)1

4)10
Correct Answer: 10
Candidate Answer: 10

QID : 37 - Which of the following terms follows the trend of the given list?
AAAAAABA, AAAAAAAB, BAAAAAAA, ABAAAAAA, AABAAAAA,
fffed # & &9 a1 ue § it &t & o & SIgER 87

AAAAAABA, AAAAAAAB, BAAAAAAA, ABAAAAAA, AABAAAAA,
Options:

1) AAAAAABA

2) AAABAAAA

3) AAAABAAA

4) AAAAABAA

Correct Answer: AAABAAAA

Candidate Answer: AAABAAAA

QID : 38 - A Shopping mall worker loads his trolley and walks 50 m through an alley which is going North, then he turns to his left and walks 15 m, then he turns South
and walks another 15 m, then he turns East and walks 25 m and then he turns south and walks 35 m. Where is he now with reference to his starting position?

SIERT Aiet & T R aTelT Yoh A fch STOHT giett hl ¥R 50 Hiex IR i 3R & ST1aT 81 fhR 7 a1 81k Feare 15 Hiex Teidn &1 39 91 g afeyor 6t 3k e 15 Hex geran 8, R
g 25 ez g ol 3R =etdn & 3R Oz Sfaror i 3R gsam 35 Hiex de =eidl ¢ 319 a8 31Ut aRfve ffa & i Rfa w82
Options:

1) 10 m West

10 ez ufgm

2) 10 m East

10 Hier gd

3) 40 m East

40 Hi

4) 40 m West

40 Hiex ufgw

Correct Answer: 10 m East
10 Hrer gd

Candidate Answer: 10 m East

10 Hrer gd
QID : 39 - Two battle tanks start from the same point. Tank A travels 12 km South, then turns to its left and travels 7 km. Tank B travels 7 km South, then turns West

and travels 9 km, then turns to its left and travels 5 km. Where is tank A with respect to tank B?

3 gg Ul Geh o1 foig & To1 TR & 81 & A, 12 foretiviex af&ior it oik Ierar & ofR o o ik geane 7 freiiex =rerar 81 & B, 7 fohaitfiex afayor i o7k =retar & ok fihe ufgw
& 3R g 9 fheliFitex =rerd 8, foR -t o 3R qgere 5 fheliviiex =reldT &1 &eh B & Ha+f A ¢ah A gl 87



Options:

1) 16 km West
16 foheitefier ufgym
2) 2 km East

2 fenetiter
3) 2 km West

2 feretitex

4) 16 km East

16 fpeiiier g

Correct Answer: 16 km East
16

Candidate Answer: 2 km East
2 foreeiex

QID : 40 - In the question two statements are given, followed by two conclusions, | and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No cats are dogs
Statement II: Some cats are carnivores
Conclusion I: All dogs are carnivores
Conclusion II: All carnivores are dogs

uy § &l %A 33 T § s ot &t fse | of 1| et T &1 siuent | € 16 S e I € 9T 98 wrHaa: T el § 9 vl gl g emuent fAofa ser & Y g g
et & @ e-a1/aH-8 Rffa T0 @ s gR1 9et (e ST 9ehdr &/9hd &, afe &S 8l

YU |: Y et g e &
wYA |I: o el wraER! &

foreeed |: woft gt wreTET) &
forseme |1: @it wiETEr o &
Options:
1) Only conclusion | follows
| Té e
2) Only conclusion Il follows
Fad ey || 98t g
3) Both conclusions | and Il follow
ST foreenef | o 1l W€t &
4) Neither conclusion | nor conclusion Il follows

1 at freenef | @@l g 1 81 et |1

Correct Answer: Neither conclusion | nor conclusion Il follows

1t freenef | gl g 1 81 et |1

Candidate Answer: Neither conclusion | nor conclusion Il follows

1t freenef | gl & 1 81 et |

QID : 41 - In the question three statements are given, followed by three conclusions, |, Il and lll. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: No bronze is copper
Statement Il: Some alloy is bronze
Statement lll: Some zinc is alloy

Conclusion I: Some zinc is bronze
Conclusion Il: Some copper is zinc
Conclusion Ill: some alloy is copper

u § 9 oy A T € forges omt i fAsend |, 11 3R 111 et T €1 simuent A & 136 i v O € 918 a8 IETd: F1d 9t & 97 udfia gia gt 1 simuent Aot e & i g g
et & @ -a1/aH-8 Affa =0 @ Y= gR1 Get (AT ST 9ehdr &/9d &, afe &S 8l

FYA |: i diaet aien e &
&Y II: T arg fae &
HY NIl: TS ST o1g &

fArsne |: $& Siear fiaer &

frsnef 11: g afaT ST @
st 11 o arg AT

Options:

1) Only conclusions | and Il follow
et fAwn | ofR Il Tt &

2) Only conclusions Il and Il follow
Fad ey | R Il 98t &

3) All conclusions |, Il and IIl follow
= et |, 11 ofiR 111 9t &

4) None of the conclusions follow

A s |, 1 SR Il T e @

Correct Answer: None of the conclusions follow

A s |, 11 SR Il T e &



Candidate Answer: None of the conclusions follow

Rt s 1, 11 o= 111 T A &
QID:42-
Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

frforRas ITR Tpfr & &SI /T & g T Ty
3TTEpIeT H et T & F1T el ST HepclT?

Options:

1
2
3

4

=
Bl
<=
3




Correct Answer:

Ry

Candidate Answer:

L2

QID:43-
Which of the following answer figure patterns
can be combined to make the question figure?
Prrferfae sov ampfer 3 @ i & ftrd) @t
Gitegey A U T AT 361 AT A el £7

Options:

1)

2)

3)

4)

Correct Answer:

Candidate Answer:




QID: 44 -
In the following figure, square represents
astronauts, triangle represents swimmers,
circle represents women and rectangle
represents Indians. Which set of letters
represents women who are either
astronauts or swimmers?

FPr=ferRed o o o, egiFicy @i Ha e e &,
frgor SRret 1 wafdia wear 8, g, wfdemel @ aiik
BT Wit &t wafi s Riorert @ S T wiE
Afgemall @ wafiia ovar & 9 ar Jr s HeE

o e

G

Options:
1) FHGI

2) DEIA
3) IBFG

4) FHI
Correct Answer: FHI
Candidate Answer: FHI

QID: 45-
Which of the following Venn diagrams represents the

relationship between Pencils, Pens and Writing
instruments ?

frr=fafa § & #1991 9RF Offe, 0= il fora $i
T & e Ga grfdr &7



Options:
1

(=

2

3)

4)

©

Correct Answer:

Candidate Answer:

QID : 46 -
Which answer figure will complete the pattern in the

question figure?

fFrIeTREd ¥ & PH-HT ITR SATHIT T AP &P Hfeey
B R H?




Options:
1

2)

3)

4)

Correct Answer:

Candidate Answer:




QID : 47 -

From the given answer figures, select the one in which
the question figure is hidden/fembedded.

&1 T IR STt H A I STy Y AT Fore wy
amgfer fife 21

L

Options:
1)

2)

3)

4)

Correct Answer:




Candidate Answer:

QID : 48 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T BT H R AR BT BT HISHR I
BT PR AT FIe & F15 I8 b IR MBS
fems <r?

| |
-
e

Options:

1)

2)

3)

4)




Correct Answer:

NI
D q

Candidate Answer:

NI
D q
i o B

QID : 49 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the
given figure?

Ife Tep ST T MN X1 IR 3T 11 a1 & ft ITR
ST IRAT H I I STPFT T4 STPIeT &7 HE

12




Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:




QID: 50 -

A word is represented by only one set of numbers as given in any ane of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-| are numbered from 0 to 4 and
that of Matrix-1l are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example "C" can
be represented by 31, 43 ete and "W can be represented by 76, 89 elc.
Similarly, you have to identify the set for the word 'SODA'

U 91 e U SEHT-AE ST SU T &, S 5 e 7 4 et v
T w7 &1 Ferapert #F R T e anari & o it g gie e €, S
fe 0 &1 el ¥ 81 Siede-| b T 3 Uiy et Hee 0 4 7R 3TegE-1 Y
59 9 81 g7 armegel & ve e ) yee Swdh) dRE St are F e dear grr
ST T el 1 S8R & U G T 31, 43 A1 G ST o ek & err
W' T 76, 89 ST ST SUTT W T 21 S OE W TR 0 I R em
‘SODA’ ¥ 17 &5 &l qearHr &)

Matrix | HRRTE-l Matrix || 2TeE-1|

0 1 2 3 4 5 6 | 7 ] g
0 ] G ] A H 5 5 al n T X
1 B A 0 B L [ 5 7 gl I ¢ u a
2 B D & F L 7 T w | w 5 T
3 L C G B B 8 aQ R | o T W
4 B K B C B g a P T 5 X

Options:

1) 65,85,21,40
2) 78,87,12,03
3) 55,67,12,33

4) 98,69,22,14
Correct Answer: 78,87,12,03
Candidate Answer: 78,87,12,03

QID : 51 - By what name is the BRICS bank presently known?

forery dop ot gfaT A R AT ST ST 87

Options:
1) BRICS Development Bank
foo faerer o

2) Afro-Asia Development Bank
TIR-ufRraT Saeude g6
3) New Development Bank

Iz

4) No option is correct.

s faehey Tgt TEl 8.

Correct Answer: New Development Bank
S

Candidate Answer: Afro-Asia Development Bank

hI-ufT Saede da

QID : 52 - What does parallel economy mean?

FHAMIR STfeawe e o1 a1y 82
Options:

1) Black Money

hlell g9

2) Parallel Business

FHMIAR ATUR

3) lllegal Economy

Y

4) No option is correct.

I faehey He! 81 8.

Correct Answer: Black Money
ShTelT &

Candidate Answer: Parallel Business
AR ATUR



QID : 53 - Who implements monetary policy in India?

R # Hifeeh AT A AN et 82
Options:

1) NITI Aayog

fifer smarT

2)RBI

WRet Rerd S

3) Ministry of Finance
[ERkEISE

4) Parliament

qHe

Correct Answer: RBI

IR Rerd §&
Candidate Answer: RBI
YR Rerd §&

QID : 54 - The ARDC is a branch of the NABARD. What is the full form of ARDC?

ARDC TaTE &1 Ueh 21T &l ARDC &l GxT ¥ &RT 82

Options:
1) Agricultural Research and Development Corporation

P srgee ofk e

2) Agriculture and River Development Cooperation

3) Agricultural Reform and Development Cooperation
PN R SR R ggan

4) Agricultural Refinance and Development Corporation

Correct Answer: Agricultural Refinance and Development Corporation

IR AT o Feehrer FvTe

Candidate Answer: Agricultural Reform and Development Cooperation

P IR R Fenrd FgamT

QID : 55 - Which of the following is a part of machinery that settles industrial disputes?

fFr=fafaa & @ o ar g+ o1 ges g & i sienfies faarel @ fRuerT exar &2

Options:
1) Labour Court
S GIE

2) Industrial Tribunal
Sitenfien

3) Work Committee
S gty

4) All options are correct.
af

Correct Answer: All options are correct.

T+t fremen @8t 8.

Candidate Answer: All options are correct.

T+t frenen @8t 8.

QID : 56 - In which year Nagaland was created as separate state?

g Tt AT Sl 31T I & T J ST 74T UT?

Options:
1) 1961

2) 1962
3) 1963

4) 1964
Correct Answer: 1963
Candidate Answer: 1962

QID : 57 - Which one of the following is responsible for the preparation and presentation of Union Budget?

FAfafed # @ ol i soie i dar SR wRgfa & fog Seer 82



Options:
1) Department of Economic Affairs
f & fawmT

2) Department of Revenue
o farmT

3) Department of Expenditure

g T

4) No option is correct.

id ey agl T8 2.

Correct Answer: Department of Economic Affairs
f & foreamr

Candidate Answer: [ NOT ANSWERED |

QID : 58 - Who presided over the inaugural meeting of the Constituent Assembly of India?

R ht TIAET T I ugeft Faeh Y srezerdr fhaa & oft?
Options:

1) Dr Rajendra Prasad

ST IS TS

2) Dr Sachchidanand Sinha

31 e R&egr

3) B R Ambedkar

dt 3R SidehR

4) Sardar Patel

TER T

Correct Answer: Dr Sachchidanand Sinha
3 gferE Regr

Cvandidatt_e Answer: Dr Sachchidanand Sinha
Sl gl

QID : 59 - Which of the following was not adopted from the Maurya Dynasty in the emblem of Government of India?

R TRBR o Udlieh & Al & § o9 J1af d=1 & SIU=1T A8l 197 A1?
Options:
1) Satyameva Jayate

S

2) Bull
Hig

3) Horse
Hier

4) Four Lions
TR W

Correct Answer: Satyameva Jayate

i Siaa

Candidate Answer: Bull
Hig

QID : 60 - The first session of Constituent Assembly of India was held in which of the following cities?

R Y e g o ugen w7 fFAmfafea 3 @ fohe e F g om?

Options:
1) Bombay
EEH

2) Madras
Ao

3) Culcutta
hefeh<l

4) Delhi
et
Correct Answer: Delhi

Candidate Answer: Delhi

QID : 61 - Which of the following is the best example of Vijaynagar Art?
fFrafafea d @ o9 a1 ISR &l o7 999 31resT ITex0T 87



Options:
1) Ajanta
37Tl

2) Hampi
gt

3) Puri

4) Sanchi

gt

Correct Answer: Hampi

Candidate Answer: Puri

QID : 62 - Taxila was capital of which among the 16 Mahajanpadas?

16 HeToual § & fohadht ot qerfrem oft?

Options:
1) Kosala
EaNK

2) Kuru

g
3) Vajji
CISS

4) Gandhara
YR

Correct Answer: Gandhara
YR

Candidate Answer: Kuru

EN

QID : 63 - Who was founder of Mughal Empire in India?

WRA H 7TeT FHTSY T YA i AT

Options:

1) Babur
EICHY

2) Humayun
gy

3) Akbar
3haR

4) Jahangir
STEHTR

Correct Answer: Babur
EIEN

Candidate Answer: Babur
EIEE
QID : 64 - Where did Vasco da Gama arrive in India in 1498?

qreht 3 T 1498 & 9RA | ahgi ST °1?

Options:

1) Madras
Ao

2) Calcutta
hefeh<l

3) Calicut

Ictiche

4) Bombay

CEH

Correct Answer: Calicut

Candidate Answer: Calicut

QID : 65 - According to the treaty of Srirangapattanam, which of the following was ceded to the British?

sfiagonT &t 99 & SR, fafea 7 & frg fafesr &t dig far mar ar?



Options:
1) Mysore

2) Hampi
gt

3) Kannur

RS
4) Malabar
HTATIR

Correct Answer: Malabar
AR

Candidate Answer: [ NOT ANSWERED |

QID : 66 - By what name is the Ganga known in Bangladesh?

FIATRT H T T AT T 2
Options:

1) Padma

cu)

2) Ganga

T

3) Damodar

TR

4) Meghna
AT

Correct Answer: Padma
g

Candidate Answer: Padma
=1

QID : 67 - Which of the following are not kharif crops?

T @ I T @A B TS 82

Options:
1) Maize and Rice
AR SR ATA

2) Arhar and Soyabean
IRER R A=
3) Wheat and Barley

g e st

4) Ragi and Groundnut

Tt 3 HTehett

Correct Answer: Wheat and Barley
g o st

Candidate Answer: Maize and Rice
AT SR =mae

QID : 68 - How many seismic stations are required to locate the epicentre of an earthquake?

3JchU o he ol UdT oA o g fohe afghdt R Y srrasaesdr gidl 82
Options:

Correct Answer: 3
Candidate Answer: 5

QID : 69 - Madhya Pradesh shares its border with how many States?

Teg T foham Ioal & qry ot e T e &2

Options:
15

2)4

3)6

4)3

Correct Answer: 5
Candidate Answer: 6

QID : 70 - Palghat joins which of the following states?
greraTe frfafEa | & fom ot &t e 82



Options:

1) Goa and Maharashtra
Titar 3R AERTY

2) Kerala and Karnataka

IR IR Fleh
3) Tamil Nadu and Kerala
SR e

4) Mizoram and Manipur

[ERIGECIN

Correct Answer: Tamil Nadu and Kerala
Candidate Answer: [ NOT ANSWERED ]

QID : 71 - Which of the following authorities regulates NPS?

o § @ wdiug @1 iffge o exar g2

Options:
1) IRDA
ITEIARSY
2) PFRDA
g

3) CAG
Frgsit
4) SEB
et

Correct Answer: PFRDA
fighemREy

Candidate Answer: SEBI
et

QID : 72 - Which of the following is a centrally sponsored scheme to empower adolescent girls?

fohemR wrsfohal &t TRk A & fore 578 @ &te Tt e umaifSia T 82
Options:

1) SAKSHAM

q&H

2) ABLA

ST

3) SABLA

g

4) BBBPS

Correct Answer: SABLA
BESI

Candidate Answer: [ NOT ANSWERED |

QID : 73 - Which among the following has inscribed Kumbh Mela on the Representative List of Intangible Cultural Heritage of Humanity?

fr=fafea § @ foram aaar & sngd ivgfae farmad &t ofafafd g2 & $w 9 ot anfae fomar &2
Options:

1) WHO

Seeggast

2) UNCTAD

3) ADB
qirars faemrg S
4) UNESCO

Correct Answer: UNESCO

Candidate Answer: UNESCO

QID : 74 - Who has been appointed as the General Manager of Board of Control for Cricket in India?

R  fohdhe I1E ATt cheld 1S o AgTUSeeh & &0 § fohdt fAgh fohar mam &2
Options:

1) MV Sridhar

e sfer

2) Saba Karim

T

3) Rahul Johri

e Sigd

4) Anurag Thakur

SR 3P



Correct Answer: Saba Karim
SEL

Candidate Answer: MV Sridhar
Qe sfer

QID : 75 - FIFA World Cup 2022 will be held in which country?

i iy svu 2022 forg 31§ smafSia fovam smaem?

Options:

1) Russia
&q

2) Spain

o

3) Ukrain

4) Qatar
R

Correct Answer: Qatar
hdR

Candidate Answer: Spain

QID : 76 - "The Idea of Justice" is written by .

'3 Ssfean Sife Sifes” R fordt i 81

Options:
1) Ravindra Singh
foz Rig

2) Mamta Banerjee
FHAT TSIt

3) Amartya Sen
At I

4) Abhinav Bindra
g fameT

Correct Answer: Amartya Sen

Candidate Answer: Amartya Sen
I

QID : 77 - Which author has been made Companion of Honour on December 12, 2017?

TR 12, 2017 & fohg wiRgen/fent st R Sifth TR a+TaT 1T 872
Options:

1) J. K. Rowling

. &. AfelT

2) Roald Dahl

ares STt

3) Charlotte Bronte

TreAte St

4) Jane Austen

Correct Answer: J. K. Rowling

. &, Aferr
Candidate Answer: [ NOT ANSWERED ]

QID : 78 - 315! Surajkund International Crafts Mela has begun at which of the following city?
31-af gRoigre SiaRfga fey Aer fAefafed & @ forg e & oy gam ar?

Options:

1) Faridabad

EEUACIES

2) Jaipur

SR

3) New Delhi

% feeett

4) Jaisalmer

Correct Answer: Faridabad

Candidate Answer: Faridabad



QID : 79 - ONGC Videsh has got a two year extension to explore which country's Oil block-128 in the south China sea?

NS fajer &t efeyor v arR & 59 331 & At sAter-128 & TH-IAvH & g &t adf o IR A 82

Options:
1) Cambodia
FrEifear

2) Vietnam
e

3) Taiwan
qrsdar

4) Philippines
foRefidi=r

Correct Answer: Vietnam

Candidate Answer: Philippines

QID : 80 - The 5t India-Sri Lanka joint training exercise "Mitra Shakti 2017" was held in which state of India?

5 af WRd-fieient T=h A= Ty ‘A 21fch 2017” wRa & o o & smaifSia fowan mmar «am?

Options:
1) New Delhi
73 Rt

2) Tamil Nadu

3) Maharashtra

HERTY

4) West Bengal

Ui sTTet

Correct Answer: Maharashtra
HERTE

Candidate Answer: Tamil Nadu

QID:81-BIOSis a .

I. non-volatile firmware
II. Volatile firmware
11l. Software stored on a small memory chip on motherboard

BIOS T gl

1. iRgRad-g widmR

II. uRadg wrfdar

11, FeRe1E IR Ueh B¢ At AARY g 0R Gigedar a1 Sugor
Options:

1) Only |

Shad |

2) Only Il
haet Il

3) Only land Il
had | g Il
4) Only Il and Il
had [l qr il

Correct Answer: Only | and llI

haet | ar il
Candidate Answer: [ NOT ANSWERED ]

QID : 82 - Which of the following is TRUE?

fatfRad s aram g?

Options:
1) Primary memory is non-volatile.

e A R-uRad-a gt &1
2) Secondary memory is volatile.
gt A9t aRad=a gt 81

3) ROM is non-volatile memory.
A R-uRadta gt &1

4) RAM is non-volatile memory.

W R-uReca gkt 31

Correct Answer: ROM is non-volatile memory.
R-aRada gidt 81

Candidate Answer: RAM is non-volatile memory.

W R-uReeHa gkt 31



QID : 83 - Which of the following metal remains in liquid form at room temperature?

frfafea 7 O o €t arg et a9 W & &9 F Bt 8?

Options:
1) Cadmium

2) Mercury
URT

3) Germanium
4) Tin
fea

Correct Answer: Mercury
URT

Candidate Answer: Mercury
URT

QID : 84 - Aqua regia is a mixture of .

37 7T (Qerat ) o1 AT glar g1

Options:

1) dilute hydrocloric acid and concentrated nitric acid.

T BISSIIIReR ST T Hig; A3k ot

2) dilute sulfuric acid and dilute hydrocloric acidic.

T TR T TAT I BTES GANRR S

3) concentrated sulfuric acid and dilute nitric acid.

i TRIReh 317 qUT af A3(eeh St

4) concentrated hydrocloric acid and concentrated nitric acid.

iz ISR 37 qAT Hig ATgfeah Srt

Correct Answer: concentrated hydrocloric acid and concentrated nitric acid.
iz ISR 37 qT Fig ATgfeah Srt

Candidate Answer: concentrated sulfuric acid and dilute nitric acid.

iz GewgReh 3 JUT a ATSfee ovel

QID : 85 - In a concave mirror if object is placed at centre of curvature, then image will be

ek 3faddt gU0T & I forg ot aehall g IR TG4 §, at 5= arer ufafa gt

Options:
1) virtual

STTE
2) erect

3) diminished
Bler

4) at the centre of curvature
Tqehd & g W

Correct Answer: at the centre of curvature

Tohd & g R T

Candidate Answer: virtual
STt

QID : 86 - What is the mass of 4 mole of aluminium atoms?

T & urATweH & 4 Hid T GeHE T 82
Options:

1) 120 grams

120 o9

2) 108 grams

108 9

3) 136 grams

136 U9

4) 140 grams

140 9

Correct Answer: 108 grams
108 o\

Candidate Answer: 108 grams
108 I\

QID : 87 - Which of the following particles were made to fall on a thin gold foil by Ernest Rutherford?
FfeifEd § § S RIS A S @ Ul ol HH Y Ot TR TeneraT oT?



Options:
1) Gamma
AT

2) Beta
et
3) Electron

4) Alpha
3Tethl

Correct Answer: Alpha
3Tethl

Candidate Answer: Alpha
3Tethl

QID : 88 - Which of the following statement(s) is/are TRUE?

I. Fuse is generally placed in series with the device.
Il. Fuse is generally placed in parallel with the device.
11l. Fuse wire has high melting point.

fafafea 3 @ a9 9/a sy g g/8?

|. RIS ol AT ik o A1 SofichA § Saiford ahd 81
1l. RIS ! G gfch & AT UTefehA H GO avd &1
. WIS dR & Teich 3= &I &1

Options:

1) Only |

had |

2) Only lI

hae Il

3) Only I and Il
ad | qt il

4) Only Il and 11l
had [l a2t Il

Correct Answer: Only |

Shad |

Candidate Answer: Only |
I

QID : 89 - A rectangular coil of copper wire is rotating in a magnetic field. The direction of the induced current changes once in each?

dfel & AR <l Toh STAATRR GSel! el Gachra & # guft 11d o 8T §1 39 Graett A OR faeld arT &l feam # fras uRymor & vy gtar 82

Options:
1) Two revolutions

2) One revolution

Qe ot

3) Half revolution

31T YUt

4) One fourth revolution

Teh g

Correct Answer: Half revolution
3T goia

Candidate Answer: [ NOT ANSWERED ]

QID : 90 - Noise is measured in which unit?

MR il R 3enTs & TTaT ST 82

Options:
1) Watt
are

2) Faraday
]

3) Pascal
UT¥ehel

4) Decibel
Euico
Correct Answer: Decibel

Candidate Answer: Decibel

QID : 91 - Which of the following vitamin helps in clotting of blood?
f=fafaa d @ o a1 fAef@a w6 & Thea & GgradT ehar 872



Options:

1) Vitamin A

e A

2) Vitamin B

™= B

3) Vitamin D

= D

4) Vitamin K

= K

Correct Answer: Vitamin K
K

Candidate Answer: Vitamin K
T K

QID : 92 - During heavy exercise, breathing rate in an average adult person can increase upto

31freh AT A S ERH, TRl T aoes &t oo &) ufd fiFe a o€ Tahd! &1
Options:

1)15

2) 20

3)25

4)30

Correct Answer: 25

Candidate Answer: [ NOT ANSWERED ]

per minute.

QID : 93 - Why is the colour of human blood red?

T Th T T AT 41 giaT &7
Options:
1) Because of myoglobin
& HROT
2) Because of haemoglobin
& R
3) Because of immunoglobin
& RO
4) Because of heptoglobin
BRI & AROT

Correct Answer: Because of haemoglobin
& R

Candidate Answer: Because of haemoglobin
& PRI

QID : 94 - Which of the following statement is INCORRECT?

fafafea 3 @ i a1 wue a8l 82
Options:
1) Oviparous animal does not give birth to young ones.
STSYSTeh Sig faeRfeid fRIS] &t S+ T8t &l
2) Each sperm is a single cell.
Uk Y[ehTU] Teh Yehel hiRAHT &1
3) External fertilisation takes place in frog.
# arg] FveE gl &1
4) Fertilisation is necessary even in asexual reproduction.

3rAfies 5= § oft s smasaes g1

Correct Answer: Fertilisation is necessary even in asexual reproduction.
S A oft Fisee smasaes Bl

Candidate Answer: Fertilisation is necessary even in asexual reproduction.

3rAfies 5= § oft s smasae g1

QID : 95 - What is the cause of arise of myopia?

fene 3 <y Ieu= g o1 oI HwRuT §?

Options:

1) Excessive curvature of the eye lens.
Y TchdT ST 31fdes g1

2) Eye ball becomes too small.

A Tl T BYeT g1 ST

3) Focal length of the eye lens becomes too long.

|

4) Lack of sleep.

i Hr

Correct Answer: Excessive curvature of the eye lens.
Y aTchdT T 31k g1

Candidate Answer: Focal length of the eye lens becomes too long.
I



QID : 96 - Which of the following multiplies very slowly in comparison to others?

freffed & § 3 gg:l 6 gor & sga ¢k U war 82
Options:

1) Bacteria

2) Virus

3) Fungi

hddh
4) Worms

Correct Answer: Worms

Candidate Answer: Worms

QID : 97 - The accumulation of non-degradable chemicals progressively at each trophic level is called

T TifehdT TR IR T 7 g4 TFg IG5 ol I HEAT &l
Options:

1) biological magnification

Sfaen

2) chemical magnification

3) residue magnification
a

4) No option is correct.
2,

Correct Answer: biological magnification

Candidate Answer: residue magnification
g

QID : 98 - Why Taj Mahal is suffering from "Marble Cancer"?

AoTHEd "SRR IR G a1 difed &2
Options:
1) Because of sulphur dioxide
TR STEIHTIATES S BRI
2) Because of nitrogen dioxide
SIS STEHTHIATEE & HRUT
3) Because of chloroflurocarbon
& BRI

4) Because of carbon dioxide
T STHTRIATEE & HRUT

Correct Answer: Because of sulphur dioxide
TR STFHIHATSS o SHROT

Candidate Answer: Because of sulphur dioxide
TR STFHIHATSS o HROT

QID : 99 - Cancer treatment is done by which of the following noble gas?

FIR &1 TR FfafRd 3 @ st sifoh i grr fomar Sran 82
Options:

1) Helium

2) Radon

[

3) Krypton

[Earact

4) Neon

[EEIE)

Correct Answer: Radon
[

Candidate Answer: Radon
e

QID : 100 - How many types of ecological pyramids are present in ecosystem?

IR o # feha TerR & TR firifas gt &2



Options:
1) Two
a

2) Three
Gict

3) Four

IR

4) Five

g

Correct Answer: Three

Candidate Answer: Two

QID : 101 - Which one of the following brick is suitable for the high-class brick masonry?

ffafEa $e & 9 o a1 Ues 39 2oft & < e & g Sugh 87
Options:

1) Bull nose bricks

o AT 8

2) Jhumb bricks

o (F)

32 Modular bricks

AlegeR 3¢

4) Under burnt bricks

A STell &

Correct Answer: Modular bricks
Hieer £

Candidate Answer: Modular bricks

HieeR §¢

QID : 102 - Which of the following is the correct reason for soaking the brick in water before its use?

frafafea 3 @ a9 a1 € o 3Tt SuahT & uge Tt & {3 o1 a8t hror 82
Options:

1) For preventing adsorption of moisture from mortar by bricks

€& R Wext I Tt &l

2) For reducing air void

arg R<hl &t A e & ferg

3) For reducing efflorescence

It R A h folg

4) For cleaning

Ik e & foig

Correct Answer: For preventing adsorption of moisture from mortar by bricks
£ gRT GeeT § T &1 GRgAT Qe & foig

Qandidate Answer: For preventing %jéorption of moisture from mortar by bricks

33 gRT @eed § THY 1 GREAT Aeht

QID : 103 - Which of the following compound affects the ultimate strength of cement?

= § @ 3 a7 Fiffres D 6 o= 21fh @t mefaa e 82

Options:
1) Dicalcium silicate
T hicmw
2) Tetracalcium alumino-ferrite
HREH g
3) Tricalcium aluminate
A\g
4) Tricalcium silicate
g
Correct Answer: Dicalcium silicate
S hierr Riferhe

Candidate Answer: Tricalcium aluminate
g

QID : 104 - Refractory bricks are generally used to resist .

wridamdR R ____ Ry we & fow e smar 21



Options:
1) chemical action

2) dampness

3) high temperature

I dUHE

4) weathering action

3qera fomam

Correct Answer: high temperature
3= dT9HT

Candidate Answer: high temperature
3= dT9HT

QID : 105 - Which of the following is the correct percentage of maximum moisture content based in sand where change in volume is maximum?

fafafaa 7 @ ot a1 3a 7 [ sifdean 7+ o1 gt ufasa &, siel smad= & uRad= sifdehaw gtar 82
Options:

1) 5%

2) 9%

3)12%

4) 15%

Correct Answer: 5%

Candidate Answer: 5%

QID : 106 - Which one of the following cement is best for the marine works?

e & & o a1 dive T st & fog ot 82

Options:

1) Blast furnace slag cement
TT-ET AT I

2) High alumina cement

il .

3) Low heat Portland cement
o T gidele

4) Rapid hardening cement
<fter o e

Correct Answer: Blast furnace slag cement
IT-E AT

Candidate Answer: Blast furnace slag cement
FrT-3EY e e

QID : 107 - Which of the following is limit of the moisture content that can be achieved in the air drying process of timber?

1 & & o o et arft 6 i @ el denst i arg <ivwor i wfehar 7 ure foRa ST TeRar 82

Options:

1) 10%

2) 15%

3) 20%

4) 28%

Correct Answer: 15%
Candidate Answer: 10%

QID : 108 - Which of the following proportion of cement and standard sand is used in cement mortar while testing the compressive and tensile strength of cement?

e ok a1es 39 & T srguTa Wide Woer & v fohar ST1aT 8, STafch 3 Softes ofR a=adT dTehd ol URIeTor ahvd 872

Options:
1)1:2

2)1:3

3)1:4

4)1:6

Correct Answer: 1:3
Candidate Answer: 1:2

QID : 109 - Which of the following is the important factor that affects the shrinkage of cement concrete?

= & @ -1 Ayl Rek & st Wi widhie & Rige ot vanfaa sear 82



Options:
1) Quantity of cement
HET

2) Size of coarse aggregates

E&F Y=Y ol $Tch R

3) Size of the fine aggregate

G&H G e SR

4) Amount of water added during mixing of concrete

ALY & fAsror & R S ot <y wmm

Correct Answer: Amount of water added during mixing of concrete

ALY & Msror & R fafara ot <y wmm

Candidate Answer: Size of the fine aggregate

GeH T I AR

QID : 110 - Calculate the proportion (in percentage) of fine aggregate in combined aggregate so that the fineness modulus of the combined aggregate becomes 6.4.
The fineness modulus of coarse aggregate and fine aggregate in the concrete mix is 7.6 and 2.8 respectively.

Tg<h TH=Id H G&H Ay S IrgUTd (frd #) <l 70T R dTfch SYeh Tgea hl G&HT HIUTeh 6.4 B1 STTQ | Shehle MI0T # & TH=ad 3R Y&H Ty ! G&Hdl HTdieh hAT: 7.6
3R 288l

Options:

1) 20

2) 33.33

3)35

4) 66.6
Correct Answer: 33.33
Candidate Answer: 33.33

QID : 111 - Which of the following unit is used for estimation of D.P.C. work?

=1 & @ fohg 3op13 o1 U D.P.C. &rdf & 3iTehete & fore fomar STrar 82

Options:
1) Number
=T

2) Cubic meter
iR

3) Running meter

4) Square meter

Correct Answer: Square meter

aif ffex

Candidate Answer: Square meter

QID : 112 - Calculate the quantity of the sand required (in cubic meter) in 20 cubic meters of reinforced cement concrete (1:2: 4).

(1:2:4) vafera e dehie & 20 g Hex & sragads 3 St AT (94 Hiex H) 6 oM A2
Options:

1) 2.87

2)4.4

3)5.7

4)8.38
Correct Answer: 8.8
Candidate Answer: [ NOT ANSWERED ]

QID : 113 - Deduction at cross wall for total length of the central line is .

1T T hY el TS o ToIY 1Y SR TR ahetdt gl
Options:
1) half of thickness of wall.
{5 wiYers o e
2) no deduction.

g e TE

3) thickness of wall

4) twice of the thickness of wall

&R o #erg @1 e

Correct Answer: thickness of wall



Candidate Answer: thickness of wall

Ear o Hierd

QID : 114 - Calculate the quantity of the earth works in cubic meter for a canal embankment of 100 m long having cross section areas at the two sectic..v wiv o
square meters and 80 square meters. Use trapezoidal method.

100 Hiex &t Ueh 7% & forg gars et Mo o Hiex # o foreent Sy e 5thed &t @el | 20 avf e sk 80 af Hier &1 e fafdy a1 i &

Options:
1) 2000
2) 5000
3) 7000
4) 10000

Correct Answer: 5000
Candidate Answer: [ NOT ANSWERED ]

QID : 115 - Accuracy in measurement of the area should be .

SR TUFGFEa @Ayl

Options:

1) 1 square centimeter
1t g

2) 10 square centimeter
10 aif FéfieR

3) 100 square centimeter
100 af
4) 1 square meter

1 ot Hiex

Correct Answer: 100 square centimeter
100 o

Candidate Answer: [ NOT ANSWERED ]|

QID : 116 - For estimation of painted area of corrugated asbestos cement sheets, percentage increase in area above the painted area is .

ArefieR Toeey Hide offe & fa & smere & folg, Tam & & SR &7 & ufasd gig 2l
Options:

1) 10%

2) 14%

3) 20%

4) 25%

Correct Answer: 20%

Candidate Answer: 20%

QID : 117 - Which of the following is the purpose of the valuation?

1 & & & |1 Ue Heuieh T & 38T 87

Options:
1) Approximate estimation of cost

IR <hT Y[ SIFAT

2) Analysis of rate

R

3) Detailed estimation of cost

AT T faeqa SrgA™
4) Taxation
FR-fAeRor

Correct Answer: Taxation

FR-fAefRor

Candidate Answer: Analysis of rate

&R o1 fasdtwor

QID : 118 - An electric generator is installed in the building at a cost of Rs. 50,000. Calculate the annual sinking fund (Rs.) required to be deposited to accumulate the
whole amount of 5% compound interest. Assume the life of the electric generator as 10 years.

o7 & 50,000 TUZ I ANTH & Tek forotel a1 Sifsr 2enfia foma T & | 5% Tehqieg Samel TR G 1Y ST et o forg Sirasaeh arfties kot e A (Fud) <t morm 3| A o fosreft
T ST T SitaeTehter 10 a9 &1

Options:

1) 1535

2) 30695

3) 3975

4) 79503
Correct Answer: 3975
Candidate Answer: [ NOT ANSWERED ]



QID : 119 - No deduction is made for opening in estimation of masonry work up to

_ fE S M % g A G o g 1S et gl TS 8

Options:
1) 1 square centimeter
1

2) 10 square centimeter
10 &

3) 100 square centimeter

100 ot Géfiex

4) 1000 square centimeter
1000 af

Correct Answer: 1000 square centimeter

1000 a7f Fdfter
Candidate Answer: [ NOT ANSWERED ]

QID : 120 - Calculate the weight (kg) per meter length of 25 mm diameter steel bar place at a spacing of 250 mm center by center for 1 meter.

25 ol e 3eoTd IR i ufd Hiex wdars & aur (fhett) Y o R it Y ges Hiex & forg dhg grr 250 A dhg it gt wR @ ga &1

Options:
1) 0.96

2)3.85
3)7.7

4)15.43
Correct Answer: 15.43
Candidate Answer: [ NOT ANSWERED ]

QID : 121 - Which one is the upper limit of survey area (square kilometer) for use of plane survey?

ao GferuT & IuTNT & forg Tderor & (Tt faheltex) i Fusdt i sl & 82

Options:
1) 250

2) 300
3) 350

4) 450
Correct Answer: 250
Candidate Answer: 250

QID : 122 - Which one is the smallest scale?

S GG T Blel ATGH g7

Options:
1)1:100

2)1: 500
3)1:1,000

4)1:2,500
Correct Answer: 1 : 2,500
Candidate Answer: 1 : 2,500

QID : 123 - A line of true length 398 m when measured by a chain of 20 m chain is recorded to be 400 m. What is the actual length of the chain (in m)?

eI e 398 Hiex Sl e Ufth Ta 20 Hiex SofiR &t Teh ok & AT 77 dt IThT AwTE 400 Hiex gof i 78 &1 Siof i areafdes wars (Hiex #) = 8?2

Options:
1) 19.9

2) 20.1
3)20.4

4)215
Correct Answer: 19.9
Candidate Answer: [ NOT ANSWERED ]

QID : 124 - Calculate the correction for temperature for a tape of length ‘L, if the increase in temperature is ‘T’ above the standard temperature. The coefficient of the
temperature for tape material is ‘a’.

TS 'L Y 20 & Ao o fog YR Y T R, SR JTOET § gfeg TR a0 Bh TATR o QTR T aToeT oTies A’ 2



Options:

1)aT/L

2)-aT/L

3) +aTL

4)-aTL

Correct Answer: + aTL
Candidate Answer: - aT/ L

QID : 125 - What is the correct sequence of the temporary adjustment of level?

TR & IRATE GHTAST T TE) SFehH T 82
Options:
1) Centering, leveling and setting
; , GAde 3R
2) Leveling, setting and centering
A, :
3) Setting, centering and leveling
, ShATehRUT SR FHAE
4) Setting, leveling and centering
, A ;
Correct Answer: Setting, centering and leveling
, heYeoT 3R THA

Candidate Answer: Setting, leveling and centering
, GHd 3R

QID : 126 - The values of whole circle bearing vary from .

RgqIRTF AT daeadid |
Options:
1

0° to 90°

2
0°to180°

3)
0° to 270°

4)

0° to 360¢°
Correct Answer:
(0 to 360¢°
Candidate Answer:
(0° to 360°

QID : 127 - Which of the following statement is correct for proper adjustment of the theodolite?

Aeterse & ST THrSH & forg e & & ot 91 e Igl &7
Options:

1) Axis of plate level is perpendicular to the horizontal axis
e TR & 18, &fdT s187 & dead &

2) Line of collimation is perpendicular to the horizontal axis
e, S 3181 & diaad §

3) Line of collimation is parallel to the vertical axis
TTRET, FHeafeR 3787 & YHHIGR &

4) Line of collimation is perpendicular to the vertical axis
FYTRET, SeAfeR He & diead §

Correct Answer: Line of collimation is perpendicular to the horizontal axis

e, &fast s1et & dead &
Candidate Answer: [ NOT ANSWERED |

QID : 128 - Which of the followings are correct for sensitivity of the bubble tube?

T S el HaaAfterar & fog Ffafed # @ @ a8 82

Options:

1)pSensitivity decreases with increase in internal radius of the tube
=E & i Boar & gfyg & a1 Gaeasficrar & gt ot &

2) Sensitivity decreases with increase in diameter of the tube.

S & N H g o ary HagAfierdr &H gt STt &

3) Sensitivity increases with decrease in length of the tube.

S I TS A Y & A1y FagAsfierar 5g St 3

4) Sensitivity increases with decrease in viscosity of the liquid.

et ueref &Y e | st & iy Gaesfierdr a¢ Sidl @



Correct Answer: Sensitivity increases with decrease in viscosity of the liquid.

A= e i arar § wHY & a1y dagaRfiedr s¢ Srdt &

Candidate Answer: Sensitivity decreases with increase in internal radius of the tube

TS & AfaRen Brear 7 gig & a1y ddemsfierar &4 gt s &

QID : 129 - Calculate the curvature correction (in m) if distance between the instrument and staff is 500 m.

Teh GUR (Hiex H) Y 70T 2 3R IUSRUT 3R I & &gt gt 500 Hiex &1
Options:

1) 0.0196

2) - 0.0196

3) 0.0028

4) - 0.0028

Correct Answer: - 0.0196

Candidate Answer: [ NOT ANSWERED ]

QID : 130 - Calculate the volume of the earthwork (in cubic meter) using trapezoidal method if the cross section areas of the three section of embankment at an
interval of 20 m are 40 square meters, 50 square meters and 80 square meters.

GreraTeRR fafer et ITNT R ars Y 71T (9 Hiex H) Y T R, 3R 20 Hiex 3 SaRTel TR gy HIE S 1 TS & UR dead eathe 40 aif #iex, 50 af wfiex ok 80 & Hiex &1
Options:

1) 1067

2) 1700

3) 2200

4) 3200

Correct Answer: 2200

Candidate Answer: [ NOT ANSWERED ]

QID:131-The soil transported by the gravitational forces.
TEATRYUT I gRI______ fard} ot Sruarg grar 3|

Options:

1) alluvial soil

2) colluvial soil

3) loess

Rrenft difer o At
4) till

et

Correct Answer: colluvial soil
Candidate Answer: [ NOT ANSWERED ]

QID : 132 - Which of the following is determined with the help of pycnometer?

9 & @ i gt i geraan & fuifd giar 82

Options:

1) Dry density and specific gravity
Tt g R fafrE o

2) Void ratio and dry density

R SruTa SR &k T

3) Water content and specific gravity
STe et SR e e

4) Water content and void ratio

o1 gt 8k Rk ergaTa

Correct Answer: Water content and specific gravity

et gt S fafre e

Candidate Answer: Water content and specific gravity

o1 gt i fafre e

QID : 133 - The cell pressure and pore water pressure is increased from 0.1 N/sq. m to 0.26 N/sg. m and 0.07 N/sg. m to 0.15 N/sg. m respectively in the triaxial test.
The Skempton'’s pore pressure parameter is given by .

T gaTg 3R STet 8i o1 gara 0.1 T / aif fex @ 0. 26 T / v fier 3R 0.07 w1 / af ez @ 0.1547 / af wiex shmar: 3w usteror deg man &1 e & Siet 38 ol gag gk
Ry El

Options:

1)-3

2)-0.5

3) 0.5

4)2

Correct Answer: 0.5

Candidate Answer: -0.5



QID : 134 - Which one of the following shows time factor (approximate), for 50% degree of consolidation?

1 & & o 1 50% 33t T & & fog gon ww uTen (STgATd) @l g 87
Options:

1)0.2

2)0.5

3)1

4)2

Correct Answer: 0.2

Candidate Answer: 0.5

QID : 135 - Which one of the following is true about ideal fluid?

fadd s aTus smefga & aR § T &2
Options:

1) It is compressible.

Jg dgfaa &

2) Itis incompressible.

Ig

3) It has high shear force.

Y S Al IA B

4) It has high value of viscosity.

T ITT AT &

Correct Answer: It is incompressible.
Ig SEGd §

Candig:late Answer: It is incompressible.
g

QID : 136 - The diameter of droplet is 0.075 mm. What is the intensity of the pressure (N/sq. cm) developed in the droplet by surface tension of 0.000075 N/mm?

BIE g &1 @ 0.075 A 81 0.000075 T/ GAYH & g 9419 I B g & faenfid gama (g7 / it Geft) Fr veerar o 82
Options:

1)0.4

2)0.6

3)0.8

4)1

Correct Answer: 0.4

Candidate Answer: 1

QID : 137 - A rectangular block of dimensions 2 m x 1 m x 1 m is floating in the water with immersing depth of 0.5 m. What is the weight of block (kN) if unit weight of
water is 10 kN/cubic meter.

e STTAATRR &ten ot Smar 2 1 x 1+ x 1 ez 8, foreant 0.5 #iex Tt & Sfa SaT §oiT 7TexTs & A1 urt # 3R 6T &1 ATk ol ot o1 & (fohelt =geT) SR uT=it &l e ast 10
fohett =g / o Hiex &1

Options:

1)5

2)10

3)15

4)20

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED ]

QID : 138 - On which principle equation of continuity is based?

foRaRar a1 Trftenr fohg Rigiad R smenfia &2
Options:

1) Conservation of energy

Tt ehT TREOT

2) Conservation of mass

SHHT T TRETT

3) Conservation of momentum

Tt T TReTor

4) All option are correct

oft ;

Correct Answer: Conservation of mass
SSTHT ohT TRETT

Candidate Answer: Conservation of mass
SSTHT ohT TRETT

QID : 139 - If Reynolds numbers are 1000,000, then what is the approximate value of friction for the smooth pipe?

& Fiee T=@Tg 1000,000 & aF et u1sy o forg efor &1 srganf=a A & 87



Options:

1) 0.1

2) 0.01

3) 0.001

4) 0.0001

Correct Answer: 0.01

Candidate Answer: [ NOT ANSWERED |

QID : 140 - Which one of the following is correct for impulse turbine?

1 & @ &l 91 Ueh 31menT exaTe & forg el 82

Options:

1) Always operates in submerged condition

BT ST gTerd § defdT &

2) Converts pressure head into velocity with the help of vanes

U<TT T 7SS ¥ &1 6 ol T A 96 T §

3) Operates by initial complete conversion to kinetic energy

TS Jatt o folg TRfSes gof wuiaror & ganferd glar &

4) Operates by initial complete conversion to potential energy

ffdet oif & g uRfe gof suiaRor & Gaifed gt g

Correct Answer: Operates by initial complete conversion to kinetic energy
& e quf FqicRor @ 4§

Candidate Answer: Operates by initial complete conversion to kinetic energy

Tferst it o forg Ui gof wuiavor @

QID : 141 - When the water drawn from the central hole made in wash hand basin, the type of flow of water is

STe aTt g1 e 3 f8 & ekl B¢ § kT SITaT €, Uil & vaTg & Uk H|
Options:
1) forced vortex
ElEERICN
2) free vortex
Heh YeR
3) tangential flow
wsf yarg
4) transitional flow
bdre
Correct Answer: free vortex
eh YeR
Candidate Answer: free vortex

Aeh YeR

QID : 142 - Which of the following turbine is suitable to generate the power of 10,000 hp, working at the speed of 500 rpm under a head of 81 m?
1 & & o ot ezas 10,000 Gt Y 21fth S0 e & folg Sugeh 8, 81 Hiex & Tah 88 o =i 500 SiRdgH & ifay & ot T 82

Options:
1) Propeller
deR

2) Francis

3) Kaplan
el

4) Pelton
Yefed

Cprrect Answer: Francis
Candidate Answer: [ NOT ANSWERED ]

QID : 143 - Calculate the specific energy (m-kg/kg) of the flow if the velocity of flow is 2.22 m/s and depth of flow is 1 m.

& yaTg 1 1T 2.22 Hiex / Yehs & SR varg it mews 1 Hier & <t fafre i & ror (g foha / foRam) F a1

Options:

1)1.25

2)2.22

3)3.22

4) 4.22

Correct Answer: 1.25

Candidate Answer: 3.22

QID : 144 - The sphere of diameter 0.02 m is falls in the fluid of kinematic viscosity 10 stokes with the terminal velocity of 0.02 m/s. What is the value of coefficient of
drag on the falling sphere?

0.02 Hex = & e § 0.02 Y / G 3 fiet T o 1 TiiehT T 10 Wi & g § IR S11ar &1 fRa il IR Fiae & otich &1 919 &1 82



Options:

1) 40

2) 60

3) 80

4) 100

Correct Answer: 60

Candidate Answer: [ NOT ANSWERED ]

QID : 145 - As one moves from head of the canal to the field, the duty of the water .

TEX H 8S T i S dh Ueh 1T & &0 J S¢Sk arex Bl

Options:

1) decreases

Hear g

2) either increases or decreases
1 qt SedT a1 gedr

3) increases
gedl

4) remains constant

Teh A

Correct Answer: increases

&l

Candidate Answer: [ NOT ANSWERED ]|

QID : 146 - Which of the following is the correct assumption of the Kennedy’s theory?

= 8 @ ol & Sl Rigia &1 wel arom g2

Options:

1) Shape of regime channel is semicircular.

AR T T SRR e g

2) Silt is in suspension due to buoyancy force.

IAT e h BRI, F@TedSg fFAete & giar 3|

3) Silt is in suspension due to eddy formed from bottom of channel.

ATl T T8 TR HAR ITF §H o hRUT, IW@Tog Aeta § giar g

4) Silt is in suspension due to eddy formed from wetted perimeter of channel.
At Y et aRRY @9 & aror, Yafg Pieia d giar g

Correct Answer: Silt is in suspension due to eddy formed from bottom of channel.
el Y Tag WR AR 3T &1 & Rl I@Ieg Aete # gar g

Candidate Answer: [ NOT ANSWERED ]|

QID : 147 - What is the value of the lateral coefficient of the friction as per the IRC?

TR & STAR T0T S UT%] T[UTich T H HIT 82
Options:

3)0.15

4)0.3

Correct Answer: 0.15
Candidate Answer: 0.15

QID : 148 - Calculate the safe stopping sight distance (in m) for the descending gradient of 3% for a design speed of 80 km/h. Take coefficient of friction as 0.35 and
total reaction time as 2 seconds.

80 ferrt/aueT it gen fEwTma 1 71 & forg 3% & STarie! &1et & forg TRféa Jen gfE @ (e #) Y 71orer | ErfoT & T[oTieR ot /19 0.35 3R e Hidifehar Taa 2 dehe 714 o |

Options:

1) 110.82

2) 123.26

3) 1018.41

4) 1092

Correct Answer: 123.26

Candidate Answer: [ NOT ANSWERED ]

QID : 149 - Which of the following is the minimum limit (ppm) of the dissolved oxygen that must be in the water for survival of aquatic life?

Praforfa & @ a9 o Rrafa sifarfisr it <gram < (didtom) & St sreft sftae & sifir & forg oiet & g =nfeg?
Options:

1)1

2)4

3)10

4) 40

Correct Answer: 4

Candidate Answer: 4



QID : 150 - A stream has flow of 20 cumecs and BOD concentration of 10 mg/I receives the industrial waste water having flow of 1.5 cumecs and BOD concentration
of 250 mg/I. What is the BOD concentration (mg/I) of stream at downstream point of meeting of stream with industrial waste?

ek &R o1 UaTg 20 FRgierd d & Sit 10 fArefium / <fiex &t et genrran & ary sienfires swer ot art 1.5 i & varg ok 250 e / et & dYeitel genrrdm &t ure &ear 31
3fenfies SR & Ty gRT el e & SrgyaTs foig IR URT i dteier e (et / dex ) @1 82

Options:

1) 2.67

2)12.09

3)13

4) 26.74

Correct Answer: 26.74

Candidate Answer: [ NOT ANSWERED |

QID : 151 - Ariveted joint may experience

Te RRae fohd g SilS ol 39T 913 81 Uchal &

Options:
1) shear failure
e farthetar

2) shear failure of plates
il chl AT fathetdm

3) bearing failure

4) All option are correct
oft

Correct Answer: All option are correct
ot g

Candidate Answer: All option are correct

goft faaey Tt §

QID : 152 - If p and d are pitch and gross diameter of rivets, the efficiency (n) of the riveted joint is given by

3R p 3R d g 3k RdeH o1 wehet a9 8, af Rae fond g Sirs i gerar (n) ol foreres g1 fean sirar &
Options:

1) n = p/(p-d)

2) n = p/(p+d)

3) n=(p-d)/p

4)n = (p+d)/p

Correct Answer: n= (p-d)/p

Candidate Answer: [ NOT ANSWERED ]

QID : 153 - If the moment of inertia of a section about its axis is | and its effective sectional area is A, its radius of gyration r about the axis is

IR ST ¥ & AR § Yok WS ol AT AT 707 | § SR ITh warelt Srprfia & A 8, Y o1el & AR § Re Y s r gt

Options:
1)r=1/A

2)r=v(I/A)
3)r=v(A/l)

4) None of these

T A T

Correct Answer: r = V(I/A)
Candidate Answer: r = v(I/A)

QID : 154 - Allowable working stress corresponding to the slenderness ratio of double angles placed back to back and connected to one side of a gusset plate is
reduced to

THIRT RIeRTST! AT STl Q16 ShIUT o Y& G SIUTd S STFY 8, Taeh UTH Uah 3T §3 & ¥ 3fR o T Wie § e feen & I g3 & f a8 59 1 ok a1e ST 3
Options:

1) 50%

2) 60%

3) 70%

4) 80%

Correct Answer: 80%

Candidate Answer: [ NOT ANSWERED ]|

QID : 155 - According to I.S. : 800 — 1871, lacing bars resist transverse shear equal to

3TETH : 800 - 18713 IER , AR Ford fAuta Sryey haxeit ot forter TR FAE |



Options:

1) 1.0 % of the axial load
37eflg TR &1 1.0%

2) 2.0 % of the axial load
J&fg TR &12.0 %

3) 2.5 % of the axial load
Jeflg TR &12.5 %

4) 3.0 % of the axial load
3&ftg TR &13.0 %

Correct Answer: 2.5 % of the axial load
3eflg TR A12.5 %

Candidate Answer: 2.5 % of the axial load
3eflg MR &H12.5 %

QID : 156 - Pick up the correct statement from the following

= 4 § 9 e Fad

Options:

1) Loaded columns are supported on column bases

s fhy 71T WY, T STYR R 3MeTRd 4

2) Column bases transmit the column load to the concrete foundation

T & SR T TS B SI i IR TR hd &

3) Column load is spread over a large area on concrete
Y UR dhehle IR Teh ¢ & & thell
4) All option are correct

T+t frene @5t &

Correct Answer: All option are correct

T+t fareme @5t &

Candidate Answer: All option are correct

T+t frenen 95t &

QID : 157 - In the composition of good bricks, the total content of silt and clay, by weight, should not be less than:-

3reeht St <t Tea & forg, e ofk ) T gt Ao, MR H, T A g1 g1 IRy |
Options:

1) 20%

2) 30%

3) 50%

4)75%

Correct Answer: 50%

Candidate Answer: 20%

QID : 158 - In factory buildings, the horizontal beams spanning between the wall columns supporting a wall covering are called

HREM Y FARG! H, Yoh SR F afT ol GgRT 2 Iret SaR Wi & i et &ifast iw ot gt st &

Options:
1) stringers

2) trimmers

3) girts

fi&a

4) lintels

fomeeT

Correct Answer: girts

Candidate Answer: girts

QID : 159 - The average shear stress (in kg/ cm?) for rolled beam section, is

e i ST & Forg Sferdt shereeft a=Ta (6. m./@ei?) & @ @

Options:

1) 845

2) 945

3) 1025

4) 1500

Correct Answer: 945

Candidate Answer: [ NOT ANSWERED |

QID : 160 - Web crippling generally occurs at the point where
39 forufeiT SR W 39 fig R g & gt



Options:

1) bending moment is maximum
- oI &7

2) shearing force is minimum
AT a7 =g &

3) concentrated loads act

Ffed e

4) deflection is maximum

fagaor sifderam &

Correct Answer: concentrated loads act

Candidate Answer: concentrated loads act

Higa are sfafes
QID : 161 - The strength and quality of concrete, depends upon:

Shehic Y aTehd SR T[UreT, 39 W R et 8
Options:

1) grading of aggregates

T <t afST

2) surface area of aggregates

eI T GdE SAhA

3) shape of aggregates

Y &l ThR

4) All option are correct

g} fAreg Tl &

Correct Answer: All option are correct

g} fAreg Tl &

Candidate Answer: All option are correct

g} fAreg Tl &

QID : 162 - The process of adding water to lime to convert it into a hydrated lime is termed as:-

AU H AR R g P A URAGa A A USRI Fgardi & |

Options:
1) watering

2) baking
ST

3) hydration
BRI

4) slaking
wifdhT

Correct Answer: slaking

Candidate Answer: hydration
HECRE

QID : 163 - If aggregates completely pass through a sieve of size 75 mm and are retained on a sieve of size 60 mm, the aggregates will be known as elongated
aggregate if its length is not less than

IR Gy G ARG § 75 At i SR &1 St G o & 3fR 60 AT SR 6t et TR a1 3T ST & o Gead i il FHfchd & € H SIHT ST, Al S6eh! oS 399 &F
T gl g

Options:

1) 81.5mm

2)91.5mm
3) 101.5mm

4) 121.5mm
Correct Answer: 121.5 mm
Candidate Answer: [ NOT ANSWERED ]

QID : 164 - The calcination of pure lime result in:-

IS T & Pgpofa (Hfmerm) et aRem -
Options:
1) quick lime
@R/ S A
2) hydraulic lime
Sl
3) hydrated lime
BRI
4) fat lime -
The



Correct Answer: quick lime
5! ia/amgqun
Candidate Answer: hydrated lime

RESESESL

QID : 165 - Pick up the correct statement from the following

= 9 @ 9 e gerd

Options:

1)pAn increase in water content must be accompanled by an increase in cement content
e et | gfg die ameft A gig & ara g

2) Angular and rough aggregates reduce the workability of the concrete

vt 3R A T, dhehle & ShTHehTST oht ohH R &

3) Large size aggregates increase the workability due to lesser surface area

A TR & &Ahel o HRUT TS HThR & THIT HIHHS A gl hd &

4) All option are correct

g} freT Tl &

Correct Answer: All option are correct

g} freg Tl &

Candidate Answer: All option are correct

g} freg Tl &

QID : 166 - According to |.S. 456, the number of grades of standard concrete mixes are

1YY : 456, % ITIR B (chehie) AT & I Hr T g
Options:

Correct Answer: 7
Candidate Answer: 6

QID : 167 - Curing a concrete for long period ensures better

i T e drepdle Y g At @ T g1 dgaR i @ R g

Options:
1) volume stability
EIEL

2) strength
<rfh

3) water resistance
STt aferty
4) All option are correct

T+t freme @5t &

Correct Answer: All option are correct
af

Candidate Answer: All option are correct
goft faerey Tt €

QID : 168 - The main object of compaction of concrete is

Shehlc & YIS o1 I e giaT ¢ [k

Options:

1) to eliminate air holes

a1 B¢ &l T e & felg

2) to achieve maximum density

3MfAhdH T Ut e & forg

3) to provide intimate contact between the concrete and embedded materials
S 3iaT Gudh ugH &R & forw

4) All option are correct

gt fderey T8t &

Correct Answer: All option are correct

gt ey T8t &

Candidate Answer: All option are correct
qoft ooy @Y €

QID : 169 - Construction joints are provided



Options:

1) where B.M and S.F are small

gt BM SR SF 8l §

2) where the member is supported by other member
STET HeH gER e gRT 9Hfdd 8§

3) at 18 m apart in huge structures

et GxamTet & sretrar 18 Hier i gt R

4) All option are correct

g} ey Tl &

Correct Answer: All option are correct
Foft

Candidate Answer: All option are correct

g} g Tl &

QID : 170 - Pick up the correct statement from the following

= & @ 9 sy 9ad

Options:
1) Construction joints are necessarily planned for their locations

& forg STt AR R JUR fohar STar @

2) Expansion joints are provided to accommodate thermal expansion
e AR ot GaASd e & g faeaR Sive uer fvar srar @

3) Construction joints are provided to control shrinkage cracks _
1ol R ot i A & SIS IuTeY FRIY T &
4) All option are correct

g} fAreg Tl &

Correct Answer: All option are correct

g} freg Tl &

Candidate Answer: All option are correct

g} fAreg Tl &

QID : 171 - Grading of sand causes great variation in

3 & A 3a Iga SareT =T & dROT S §

Options:
1) workability of concrete
hehic S hIHehTST

2) strength of concrete

chehle &Y dTehd

3) durability of concrete
hehic &l

4) All option are correct

g} e Tl &

Correct Answer: All option are correct
goft

Candidate Answer: [ NOT ANSWERED |

QID : 172 - The light weight aggregates are obtained from

& TS G SEY T foRaT ST 8

Options:
1) sedimentary rocks
]

2) metamorphic rocks
3) igneous rocks

A
4) volcanic source

Correct Answer: volcanic source

Candidate Answer: volcanic source

QID : 173 - The bulk density of aggregates depends upon its

I & Uik BT 39 W R aear



Options:
1) shape
3ThR

2) grading
A&

3) compaction

BEEE

4) All option are correct
af ;

Correct Answer: All option are correct
Toft g

Candidate Answer: [ NOT ANSWERED ]

QID : 174 - Batching error means inaccuracy in the quantity of

ST 7fe 1 Haerd & FUh A H Ay
Options:

1) aggregates

=g

2) cement
3) water

4) All option are correct
goft faerey Tt €

Correct Answer: All option are correct
goft ey Tt €

Candidate Answer: All option are correct
goft ey Tt €

QID : 175 - The center needle of the attachment of the Vicat plunger projects the circular cutting edge by

fordhe wioR & STgeriah the &1 3 39 GIRT g1 Hhels Gof i el &

Options:
1) 0.2 mm

2) 0.5 mm
3) 1 mm

4) 5mm
Correct Answer: 0.5 mm
Candidate Answer: 0.5 mm

QID : 176 - The flakiness index of aggregates is the percentage by weight of particles in it whose thickness is less than

TSI I JeddT Yaehich 39 hUIT o dol o UTaId &, foreht Aterg FFAEI
Options:

1) 2/5th of mean length

ST feTs @1 2/5

2) 3/5th of mean length

319 #iaTg o1 3/5th

3) 4/5th of mean length

ST e T 4/5

4) None of these

T & IS T

Correct Answer: 3/5th of mean length
3t g a1 3/5th

Candidate Answer: 4/5th of mean length
3q e a1 4/5

QID : 177 - The field test for the quality of cement consists in putting a small quantity of cement in a bucket containing water. A good quality cement will:

e &t urasr & fog thice 2% & urt & ges aredt & Wide Fr 2t amn gremn off gar 81 g sreedt urer aret e

Options:

1) immediately dissolve in the water
A U A g ST 8

2) float on the water surface

Ut Y Tag WR wRefle AR

3) sink to the bottom of the bucket
T & Tl | g oIl &

4) produce the steam

7Y T IeUTG hedl &

Correct Answer: float on the water surface

T Y gag R TeAle B



Candidate Answer: float on the water surface
F Tag W WAl

QID : 178 - For the repair of roads

TSoh! il 7IT & forg

Options:

1) low-heat cement is used

& THY fe o1 3T fohar ST 8

2) rapid-hardening cement is used

ATt O T g arett Hide 1 seamTe fohaT SITaT §
3) high-alumina cement is used

Iea-reg i Hide 1 U fRar ST @

4) sulphate-resisting cement is used

gethe-foRielt Hide o1 s%amTer fopa Srar &

Correct Answer: rapid-hardening cement is used

asft & T g arett Hide o1 sxTe fovan Srar @

Candidate Answer: rapid-hardening cement is used
Q & g aTelt HIHC ST STAATE [ohaT ST &

QID : 179 - The advantage of reinforced concrete, is due to

Taford Shehic & o™ 36 HRUT T &

Options:
1) monolithic character
@S IRkA

2) fire-resisting and durability
3T UfeRYY 3R Wi

3) economy because of less maintenance cost
T ERETT AN & HRUT Srefezaea
4) All option are correct

g€

oY faered

Correct Answer: All option are correct

gt e Tl &

Candidate Answer: All option are correct

g} e Tl &

QID : 180 - By over-reinforcing a beam, the moment of resistance can be increased not more than

Qe S Bl HSTee el §, TR ahT 8107 S99 SITaT 81 8t GehelT &
Options:

1) 10%

2) 15%

3) 20%

4) 25%

Correct Answer: 25%

Candidate Answer: 20%

QID : 181 - Spacing of stirrups in a rectangular beam, is

Teh STTaTERR A 7 T 6 fRRTT, 78 gt &

Options:

1) kept constant throughout the length

o s | fRR wgar @

2) decreased towards the center of the beam
&9 & chg; Y 3R M 8T &

3) increased at the ends

BR W TG

4) increased at the center of the beam

SHFHgH T E

Correct Answer: increased at the center of the beam
fHF I AT E
Candidate Answer: decreased towards the center of the beam

1 & e Y SR M gt &

QID : 182 - The radius of a bar bend to form a hook should not be less than

Teh §eh T o folg Ueh IR &t At o forg gweht Brsar 39 @ & g+ =iy



Options:

1) twice the diameter
1Y el T

2) thrice the diameter
T T A AT

3) four times the diameter
T I TR AT

4) five times the diameter
Y &l i AT

Correct Answer: twice the diameter
1Y hl T

Candidate Answer: [ NOT ANSWERED ]

QID : 183 - Steel bars are generally connected together to get greater length than the standard length by providing

LT I GARAT T ST R TR Yk AT SISH HIHh SiaTg hl o1 § Sifdepas sdams fm U ax 1 gfar &

Options:

1) straight bar splice
fieht vt etz

2) hooked splice

gFS TAgd

3) dowel splice

et TATSH

4) All option are correct

gt e Tl &

Correct Answer: All option are correct

g ey Tl &

Candidate Answer: All option are correct

gt ey Tl &

QID : 184 - The diameter of longitudinal bars of a column should never be less than

i & g TRl o AT i 569 A T TG g ATy
Options:
1) 6 mm
2) 8 mm
3) 10 mm

4) 12 mm
Correct Answer: 12 mm
Candidate Answer: [ NOT ANSWERED ]

QID : 185 - The maximum ratio of span to depth of a slab simply supported and spanning in two directions is

W 1 AV U Tl <hl TgR1g A it o Serer @Y Femraft & o ofk e glar 8, a5 @
Options:

Correct Answer: 35
Candidate Answer: 35

QID : 186 - For a continuous slab supported at ends and carried over intermediate beams

Ueh AR @ie & o &Y o &R R gafifd gt ofik wegedt sl v o sy mar gt
Options:

1) Max. sagging B.M. for the end spans = + (wl?)/10

3freras ST BM 8iq @9 & forg = + (wi?) /10

2) Max. hogging B.M. over penultimate supports is equal to - (wI2)/10
ffderam ftt ot oo, SuRia T\ & IR - (WI2) / 10 & SRR &

3) Max. sagging B.M. for the interior spans = + (wl2)/12

Ffenraw AT BM $ERaR @ & fag= + (wi?) / 12

4) All option are correct

g} freT Tl &

Correct Answer: All option are correct

g} freT Tl &

Candidate Answer: All option are correct

g} freg Tl &



QID : 187 - The advantage of a concrete pile over a timber pile is

ARSI h SR(UTSe) TR Ueh BIY & h Tg A1 BIell &

Options:

1) no decay due to termites

&%k o IR g &1 el

2) no restriction on length

TS OR h1g Hfaeey Tl

3) higher bearing capacity

3T IR &HAT

4) All option are correct

Tt g

Correct Answer: All option are correct

gt ey T8t &

Candidate Answer: All option are correct

gt ey T8t &

QID : 188 - A raft foundation is provided if its area exceeds the plan area of the building by.

U ST i wer foram Strar € afe 39ehT &9thd, 3ARd & Ao et @ 399 31fdes giar g1
Options:

1) 10%

2) 20%

3) 30%

4) 50%

Correct Answer: 50%

Candidate Answer: [ NOT ANSWERED ]

QID : 189 - The forces in the members of simple trusses may be analysed by

JIETRUT ¢ & T! | aell ol f<AWoT 39 fohaT ST TehalT §

Options:
1) graphical method
ey fafy

2) method of joints
Siret & fafdy

3) method of sections
S i fafdy

4) All option are correct
gt

Correct Answer: All option are correct

g} freg Tl &

Candidate Answer: All option are correct

g} fqreT Tl &

QID : 190 - A rolled steel joist is simply supported at its end and carries a uniformly distributed load which causes a maximum deflection of 10 mm and slope at the
ends of 0.002 radian. The length of the joist will be

T Aes Wi S5 ol 3P BR IR YgRT &dT & 3R Yeh A w0 I fFaRka ¥R a1 & S swror 10 A a1 sifdreras faghos 8k 0.002 377 i 8R W o= g 81 Siige 6 darg
gt

Options:
1)10m
2)12m
3)14m

4)16m
Correct Answer: 16 m
Candidate Answer: [ NOT ANSWERED ]

QID : 191 - A lift of weight W is lifted by a rope with an acceleration f. If the area of cross-section of the rope is A, the stress in the rope is

o W &l U foroe Uen It & Q1 Ueh @ROT f o 1Y ISTAT SITaT & | SR T o shig-9a=H T &thel A 8, af It T a-1d g

Options:

1) W (1+f/g)/A

2) (1-g/f)/A

3) W (2+f/g)/A

4) W (2+g/f)/A

Correct Answer: W (1+f/g)/A
Candidate Answer: [ NOT ANSWERED |

QID : 192 - A material which obeys Hooke's law is subjected to direct stress 00. At its elastic limit, which of the following statements is true?

T AT S geh & 1 T UTer ahwdlt 8, 98 A a1 00 & 31l BiaT 81 STI-LSTiRdm AT ARATT A 9 &1 91 YT 51 82



Options:

1) Strain is equal to 60/E

FE 00/ EF TR 8

2) Maximum shear stress = 00/2

3fdehan dar-t a1d = 60 / 2

3) Strain energy = (602/2E) x volume
q1a Fit = (002 / 2E) x AT
4) All option are correct

T+t frenen @5t &

Correct Answer: All option are correct

gt fAerea

Candidate Answer: All option are correct

T+t frene w5t &

QID : 193 - Keeping the depth d constant, the width of a cantilever of length | of uniform strength loaded with a uniformly distributed load w varies from zero at the
free end and

TexTE d Y Tad @A & g, | s & Sdtefter H der ot fh T su A faRa srw F o ale A e gy g gh e T SR ek @ w
Options:

1) (2w/0d?) * 12 at the fixed end

(2w/0d?) * 12 g sia &

2) (3w/od?) * 12 at the fixed end

(3w/od?) * 12 Ff3yq siq &

3) (3w/ad) * 12 at the fixed end

(3w/od) * 12 RfRq sia &

4) (5w/od) * 12 at the fixed end

(5w/od) * 12 fAfayd eiq &

Correct Answer: (3w/od) * 12 at the fixed end

(3w/od) * |2 ffRq s &

Candidate Answer: (3w/ad?) * 2 at the fixed end
(3w/0d?) * 12 Rffa sia &

QID: 194 -

The force in EC of the truss shown in the figure
below is

%ﬁﬁiﬁ@mﬂf{@ﬂﬁ,wmﬁrﬁmﬁ%aﬁﬂmaﬁ

5t
4t

Options:

1) zero

AT

2) 5t tension

5t ddra

3) 5t compression
5t IdfteT

4) 4t tension

4t 99Ta

Correct Answer: 5t compression
5t It
Candidate Answer: zero

LA



QID: 195 -

In the cable shown in the figure below, the minimum
tension occurs at

Frd g e o o femane 1o e 1, FAan a8 [ W e o

Options:
1HA

2)B
3)C

4) Between Aand C
ASRC&H g
Correct Answer: C

Candidate Answer: Between A and C
ASRCH T

QID : 196 - A shaft is subjected to a bending moment M and a torque T simultaneously. The ratio of the maximum bending stress to maximum shear stress developed
in the shaftis

Ueh NP Ferrd &10T M 3R Tep 2feh T TR e a1 el 8| amoe & faenfia s1ftieha® st a-1a o folq S1ferena ™ SIerra o=1Tal oAl S1uTd &

Options:
1) M/T
2) T/M
3) 2M/T
4) 2T/M

Correct Answer: 2M/T
Candidate Answer: 2T/M

QID : 197 - The shape factor of standard rolled beam section varies from

HIeh eehT ST ST &l STHR e 399 (99 il &

Options:
1)1.10t0 1.20
1.1091.20

2)1.20101.30
1.20 @ 1.30

3)1.30t0 1.40
1.3091.40

4)1.40t01.50
1.40&1.50

Correct Answer: 1.10 to 1.20
1.1091.20

Candidate Answer: 1.10 to 1.20
1.1091.20

QID : 198 - In plastic analysis, the shape factor for a triangular section is

R fasawor §, Aoy T & g seR &1 FRe &

Options:
1)1.5

2)1.34
3)2.34

4) 25
Correct Answer: 2.34
Candidate Answer: 2.34

QID : 199 - Shear center of a half circular section of radius r and of constant thickness, lies at a distance of x from the center, where x is

e r & srerf g7 ST AT ek he: SR PR AleE &, g T x



Options:

1) r/m

2) 2r/n

3) 3r/n

4) 4r/n

Correct Answer: 4r/T

Candidate Answer: 3r/mt

QID : 200 - A three-hinged arch is generally hinged at its supports and

Ueh dH-fEST arett STl SR IR 39 UeR W 3R 39 W 8 fohan gan @

Options:
1) at one quarter span
Qe drTg e &
2) at the crown
TP W
3) anywhere in the rib
Ra & &gl oft
4) None of these
3 4

Correct Answer: anywhere in the rib

R 3 gl oft

Candidate Answer: anywhere in the rib

R 3 gl oft





